
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Mit Zehnerpotenzen multiplizieren (fehlende Zahl)

9, 243 × ________ = 92.43 2, 698 × ________ = 2698

1, 147 × ________ = 1147 5, 772 × ________ = 57.72

1, 959 × ________ = 19.59 5, 931 × ________ = 59.31

9, 623 × ________ = 9623 1, 413 × ________ = 141.3

8, 785 × ________ = 87.85 5, 853 × ________ = 585.3

5, 889 × ________ = 58.89 3, 763 × ________ = 376.3

3, 604 × ________ = 3604 2, 628 × ________ = 262.8

1, 245 × ________ = 124.5 4, 3 × ________ = 43

3, 76 × ________ = 376 5, 145 × ________ = 514.5

5, 653 × ________ = 56.53 5, 009 × ________ = 500.9
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Mit Zehnerpotenzen multiplizieren (fehlende Zahl)

9, 243 × 10 = 92.43 2, 698 × 1000 = 2698

1, 147 × 1000 = 1147 5, 772 × 10 = 57.72

1, 959 × 10 = 19.59 5, 931 × 10 = 59.31

9, 623 × 1000 = 9623 1, 413 × 100 = 141.3

8, 785 × 10 = 87.85 5, 853 × 100 = 585.3

5, 889 × 10 = 58.89 3, 763 × 100 = 376.3

3, 604 × 1000 = 3604 2, 628 × 100 = 262.8

1, 245 × 100 = 124.5 4, 3 × 10 = 43

3, 76 × 100 = 376 5, 145 × 100 = 514.5

5, 653 × 10 = 56.53 5, 009 × 100 = 500.9
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